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HHME p(u,v) = (u,v,0), q(u,v) = (cosu,sinu,v) DHF AR,
PR E LT, PRy I—WE,JZIZEJ TRHRWIEZRL
IREW.
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[/ 6-

178

AT p: R x (0,00) — R3 %

p(u,v) := (sechv cosu,sechvsinu,v — tanhv) TH5 2 % & &,
wo-FH L DOBHR L, := {(u,v) ;u = a,v > 0},

Cop = {(u,v); (u — a)? + cosh® v = b, v > 0} IXHIET 2 HiimE L
DRIFMIHERBRTH 2 Z e 2R LB E V. XL aeR,

be (1,00) IERTDH 3.
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[ 6-2

el = t(cosu,sinu,O), o= t(— sinu, cosu,0), es := t(0,0, 1)
» p(u,v) =sechve; + (v — tanhv) es.

» p, =sechvey, p,=tanhv(—sechve; + tanhves),
v = tanhve; + sechv es.

» ds? = sech? v du? + tanh? v dv?.
» I = —tanhwvsechv(du? — dv?).
> K = —1.
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[ 8 6-2

#i#BRME pseudosphere
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[ 8 6-2

L, :={(a,v); v=0};
v(v) := p(a,v) = sechvej(a) + (v — tanhv) e3
» 4 = tanh v(—sechve; + tanhves).
» 4 = (%)¥ + tanhvsech v(tanh ve; + sechvey)

\/
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[ 8 6-2

Cop = {(u,v); (u — a)? + cosh? v = b2, v > 0};
v(u) := p(u,v(u)), (u— a)? + cosh? v(u) = b2
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[/ 6-
v(u) = p(u, v(u)), (u — a)? + cosh? v(u) = b?
» o = —(u — a)sechvcosechwv.
» v =sechve; + (v — tanhv)es.
> 4 =sechv((u—a) sech? ve; + ey — (u — a) sech v tanh ves).
> 5 = (%)% + (b?sech® v — 1) cotanh v(tanh ve; + sech ves)
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